BAEBEFANLODL” R

1.A # £ B

A K OB OB | AEOERY
EREEETER BROSREEEETE
2.2 N B

oY oEE L (k) EYSILE &2/t
DI EEDEHR EHESTAEREELS4—22—16
I E 0O % ™ v pesn s

( 14._ % ) -F7KJEIIEEQ7K£@E¥§%
I = 0 8 w

(e AR | EATH
IEDHER-HK %§§§E{

( # B )

I = 0O 8 =
(X HF oM =E)

TKEZRVREIEZLSCICEERBICEDE BXTT
KEZEDFERDREFREESKELLIZICHTR - FRAKE
DIREEITIDD,
NHTKE
1 BEE S b 2—N=4[E (FRFRKDH)
N=1[E GERER S RE)

HERBREAHT/KE
KEE&HEt 82— N=4E (FRKDH)

N=1[E] GERH D IEE)
BEAEtE S — N=4E (BFRKDH)

N=1[E] GERH D IEE)
EILEIEE S — N=4E (BFRKDH)

N=1[E] GRS IEE)
B FRE T KE
KERE (BEREIN=-1E(F1EEESDH)
KEBRE (HHBRE)N=230 (A#EkES)
RS EHKIE R
TRAKERE N=96[E] (2408 % X F4[H])
BRKERE N=96[0] (2401 5% x & 4[m])
HIREKEHREN=24[0] (24018 HEE% X F£1[H])

(REAMHEZRHY)

A

I !
(B 17 8 M)

SM7E4R1B~5M8E3H13H

il

ot
1

20.89 %

2 #H £ #

2,464,000 M (Frid)

() :IHBSMNZRLZHNDISE




A L B &
(B4 M)

# % AHLBTEE el (Bik)

TR MG AT b S s I REY LT I i 10,723,000 3
HEAT (WA IBAR #® 7 BB IR (k)

BTN PpAEE F LR - M
- B & % B £10E %2 @ % 3@ RS2 . %
E BEXIE4EHK £ (Bi1R) S8 (BiR) S5 (BiR) S5 (BiR)

1 |[RIFNBLEE () &)1 36T MALERE

ZETFITTY ) (BR) B T
2 g ik
3 | (BR) NSS AL E 3 RlEs

(BR) 1T s A= RF Tl 5
R 2,520,000
5 |FRSRBRRS (BR) BAb SR BEIR

(k%) B#Fr i a2
6 | st i e 21,550,000
7 | (BR) 22l X5 BEIR
8 | (— ) B R AR A 6,600,000

(AW BRI A E R AR
9 s 6,230,000
10 | [EIBSHTLEE (BR) LA 25 TR

(KE) B3 HT 2o 2 — Al
Q) pNavie- 17,000,000
12| (BR) NJ Sl & EF 5T FER
13 |k B ARBR R (BF) 4,400,000
14 BRI AR A () U5 25 18,000,000
15| (BK) EY S5 E 3T 2,240,000 YERL
16 | HALAE & T2 (BR) TR
17 | B BREEBR T (BR) & 305 BER
18| =X 2B (BR) RALScrE 8,050,000

IV T A TP IE LT o
9 ) sl S il




A L & g
(Bfz:F1)

# # AMLETEB 5 i (i)

TR MG AT b S s I REY LT I i 10,723,000 3
1647 (A B #® T BIEHIB I (i)

A RRBRERE B - ¥
B B & % B %1 %2 [ % 3 H RS2
=2 " =
E BEXIEEH S8 (BitR) S8 (BitR) S5 (Bik) S5 (Bik)
20 |V Td (BE) L3S 14,000,000

(—8) LB BB L F0irE
2|0y 4,700,000

KEBAFA YL P2
23| (h) At 4L 11,600,000

(B) =A™ A ARHATBA R W s
e gt HES
25 | (BR) B il Y2k RS
27| (BR) - h—H—E" R 9,000,000
28 | (BR) Fp ) = A M AL 2 G HEIR
o FARTRIERES (B s 10,170,000

g dE L2 (BR) s
0| g b Ak e

(BR) L ARE A A BT R 4>
e Frid
32 | AR L ER BE AR 4 (BF) HEIR




